a HORN
TECALEMIT




Important!

The operating manual is always to be read before commissioning the equipment. No
warranty claim will be granted for faults and damage to the equipment arising from
insufficient knowledge of the operating manual.

Copyright

© HORN GmbH & Co. KG. All rights reserved.

Text, graphics and layout copyright protected. Reproduction and copying, including in
part, only permitted with written permission. Technical changes reserved.

Service Hotline +49 1805 900 301
(0,14 €/Min: on the German landline network, Mobile telephone max. 0,42 €/Min.)

service@tecalemit.de

Document-No.: 44 1595 101-D
As of: 02.07.14

2 441595101-D Permanent Disposal Device



1 SAfELY INSTFUCTIONS. ... ess e e neessnneeas 3
2 General iINFOIMAtION .......ooceieiceeececceecr e e aeeee e e e e sneeesnee e 5
2 Y o 0T o] o1 =1 (<IN 1] < OO 5
B B 1LY« 1 01 0] o TSRO 5
220G T = Tal g Y [[at=1 N F= | = OO 6
2.4 DIimMeNSIONA]I DIAWINE .ottt teae s et e st snsaeas 7
3 MOURNTINE .ttt e s ssre s sne s sn e s ssesessseesssneesssseessnnesanns 8
3.1 ASSEMBIY KT oottt r et ettt se s et sesnsnens 8
3.2 CRULE BIEMENTS ...ttt enens 8
3.3 NAVIZADIE COMPONENT ...ttt e e sv e re et et se e s s e saesnennan 9
3.4 PUMDP EIEMENT ...ttt ettt re et senens 9
3.5 Oil @XEraCtOr EIECEIIC oottt ettt sneaens 9
3.6 Oil eXtractor PREUMATIC. ...ttt sneaens 9
3.7 Draining by allowing the oil to flow freely......eeeeeeeeeeeeee 10
4 COMMUSSIONING .. eiiieiicieeeeccttee e eecrreeeeesssseeeesssseesesssssaesessssseesesssssassenes 10
4.1 InSPections after @SSEMBIY ...ttt ne 10
4.2 POWEE SUPDIY ettt ettt et sttt e s e ssesaessessesse st e s saessessens 10
5 (0] o T=T =1 4 o] 1 [T 10
5.1 COHECLING WASTE Ol .ttt sttt 10
6 MAINTENANCE ... se e e see s seesesasesessesesssesessssessnnenen 11
0.1 TelESCOPIC TUDE ..ttt ns 11
B.2  BOAMNE PNttt ettt e e ea st et e st et s e s essessessensesse st enssnessesnenns 11
6.3 DIAININE CRULE .ttt ettt e s sae st et st ese s e sesnene 11
6.4 PUMP EIEMENT ...ttt ettt ss e snenis 11
7 WIFINE QI@BrAM .....eeeeiceieeceeeeceeeceeecereceereeesre e snesessresesssesessesesssssessssesssnsenes 12
8  ASSEMDIY AraWING...ceeeeiceeeceeeceecrece e sreeesseeessseeessnee s snneses 13
8.1 Assembly drawing SYSTEM CAULE ..ottt 13
8.2 Assembly drawing assembBbIY Kit ..o 13
8.3 Assembly drawing pump €leMENT......c.ooeeeeeeeeeeeeeeeeeeeeeee ettt 14
8.4 Assembly drawing navigable component..........oceeveeeeeiveeeveeeeeeeenes 14
9 Declaration Of CONFirMItY ...t eeree e neeessnee e 15

1 Safety instructions

The device is a state of the art piece of equipment and has been constructed according to
recognised safety specifications. It is nevertheless possible that use of the device will present
hazards to the operator or to third parties, or may damage the device or other property. It is
therefore essential to act in accordance with these safety instructions, and in particular with
those sections identified as warnings.

Warning notices and symbols
In the operating manual, the following signs are used for highlighting important information.

p-  Special information for economical use of the equipment.
| Special information or "dos and don'ts" for damage prevention.

c Information or “dos and don'ts” for the prevention of damage to persons or equipment.

441595101-D Permanent Disposal Device 3



Appropriate use

A\

The device may only be used if it is in perfect condition, and then only for its intended purpose,
in compliance with all safety regulations, with an awareness of the potential risks, and
according to the operating manual. Any faults that may impair the safety must be rectified
immediately.

The device and its components are only to be used for handling the liquids listed and the
purpose described. Using the machine for any other purpose would constitute inappropriate
use. The manufacturer is not responsible for any loss arising as a result of this, the risk for this
is borne only by the operating company.

Organisational measures

This operating manual should always be kept readily available at the site of operation! Each
person concerned with the assembly, commissioning, maintenance and operation of the
equipment must have read and understood the entire operating manual. It is essential that the
type plate and the warning notices attached to the device are observed, and are maintained in a
fully readable condition.

Qualified personnel

The operating, maintenance and assembly personnel must be appropriately qualified for their
work. The areas of responsibility, competences and supervision of the personnel must be
precisely regulated by the operating company. If the personnel do not have the required
knowledge, they must be trained and instructed. The operating company must also ensure that
the contents of the operating manual are properly understood by the personnel.

Waters protection

A\

The device has been designed to handle water hazardous substances. The regulations on the
operating place (e.g. Water Resources Act WHG, = ordinance on installations for handling of
substances hazardous to water VAwS) must be adhered to.

Maintenance and Service

A\

According to the regulations of the water resources law only authorized services may work on
devices for flammable and/or water endangering substances. During such works, appropriate
tools are to be used (avoid sparking). Before any kind of work on the device, all fuel lines are to
be completely emptied and aerated. Do not make any changes. Modifications or additions to the
device which may affect the safety cannot be carried out without consent of the manufacturer.
Exclusively genuine spare parts made by the manufacturer may be used.

Electric power

A\

Work on the electrical equipment may only be carried out by a qualified electrician or by
trained persons under the guidance and supervision of a qualified electrician according to
electro-technical guidelines. Machine or system components, on which inspection, maintenance
or repair work is to be carried out must be de-energised.

Hydraulics

A\

Only persons with special knowledge and experience with hydraulic systems may carry out
work on hydraulic parts and equipment. All lines, hoses and screw joints should regularly be
checked for leaks and visible external damage. Any damage must be rectified immediately. Any
oil spurting out can cause injuries and fire. The relevant safety regulations for the product must
be followed when handling oils, greases or other chemical substances!

Compressed air

A\

Only persons with special knowledge and experience with pneumatic systems may carry out
work on pneumatic parts and equipment. Prior to any inspection, maintenance or repair work,
ensure that the equipment is not under pressure. All lines, hoses and screw joints should
regularly be checked for leaks and external damage. Any damage must be rectified
immediately.

441595101-D Permanent Disposal Device



2 General information

2.1 Appropriate use

A\

The Permanent Disposal Device is a system for catching and transporting used
lubricating oil from motor vehicle engines to an on-site waste oil storage tank.

The system chute and the temporary tank in the pump element are not intended for
the storage of liquids. The Permanent Disposal Device should only be used with fully
functional conveying and drainage equipment.

It is intended for use in industry, workshops, service stations and similar
establishments and was designed especially for use in motor vehicle workshop pits.

The Permanent Disposal Device should not be operated with inflammable and
potentially explosive liquids with a flash point below 55°C. Fluids with a flash point
above 55°C may not be transported if these are heated beyond their flash point. Use
in potentially explosive areas is not permitted. In such cases there is a danger of
explosion!

2.2 Description

Draining chute with navigable component

The chute system has been envisaged especially for long truck pits. Due to the
compact construction, the system can be optimally mounted under the pit rim. The
rail system integrated into the draining chute assures the easy navigation of the firm
navigable component. The cantilever arm of the twofold telescopic collecting tub is
mounted on the turn able joint of the navigable component, and can be folded in to
save space. Opening guard plates on the collecting tub and a sieve keep the
workplace clean. Large, free profiles in the telescopic pipe and the cantilever arm
ensure the rapid drainage of used oil.

The accompanying assembly Kit includes all pieces necessary for the mounting of the
draining chute. The components necessary for wall mounting are also included, with
exception of the material necessary for mounting onto the pit walls (screws, dowels).
The sealing material for the connection of the draining chutes respectively the cover
lid is included in the components supply.

Optional Components
According to the specific requirements on site, optional components can be added
onto the chute system.

An adjustable pump element with temporary tank and level control absorbs the fluid
from the chute system and conveys it into the tank system. The pump element can be
used with an electric or a pneumatic conveyor pump. The level control ensures the
activation and deactivation of the conveyor pump and controls a signal lamp which
lights up when there is danger of overfilling the chute system.

When using a conveyor pump, the end of the chute system is habitually covered with
blind flanges.

Alternatively, it is possible to drain the system chute by allowing the oil to flow
freely into an attached collecting tub. To do so, a finishing cap with a 2" connection
should be fitted to the connector on the piping.

441595101-D Permanent Disposal Device 5



To avoid the pollution of the chute system, a special, retrofit able rubber seal can be

fitted into it.
030 830 301 - System chute 2 m
030 830 911 - System chute 1 m 020 202 981
Rubber seal 2 m
020 202 991
020 202 921 Rubber seal 1 m

Assembly kit

020 202 941
Finishing cap
with 2" connection 020 202 962
= —connecion

Oil extractor electric

020 202 972
Oil extractor pneumatic
(without illustration)

\ 020 202 931
Finishing cap

030 830 921
Pump element

027 975 012
Navigable component
with collecting tup

2.3 Technical data

Systemchute

Length I1m/2m

Volume approx. 16 Litres / m
Pumpelement

Volume temporary tank approx. 13 Litres
Level at switch point min approx. 4 Litres

max approx. 11 Litres
max/max approx. 15 Litres in pump element

Fahrwagen mit Auffangwanne

Height adjustability approx. 800 mm
Dim. collecting tub 700 x 280 mm
max. swivelradius approx. 1400 mm
Volume collecting tub approx. 15,5 Litres

0il extractor electric

Driving power Electrical three-phase motor

Pump type Externally toothed gearwheel pump
Power consumption 0.37 kw

Power supply 3/N/PE AC 50Hz 400V

441595101-D Permanent Disposal Device



Rated current:

Nominal flow volume
Nominal pump pressure
Oil pressure hose

Oil extractor pneumatic
Pump type

Transmission

Max. air input pressure
Max. pump pressure

Max. flow volume

Max. air consumption

Oil pressure hose

Air supply hose

General

Viscosity range
Ambient temperature
Oil temperature

1.1A

10 litres per minute

10 bar

950 mm, G3/4" external thread

Pneumatic double membrane pump
1:1

7 bar

7 bar

19 litres per minute

250 litres per minute

950 mm, G3/4" external thread
1000 mm, outer diameter 8 mm

5000 mm? per second
0° up to +40°
0° up to +55°

2.4 Dimensional Drawing

Wall mounting rail
Spacing 1000 mm

Tub 360° swivelling
Opening: 270 x 700 mm

920

~ Outline of tub
swivelled out

AN

136

208

711

680

Covers foldable .

796

1507

441595101-D Permanent Disposal Device



Before beginning the mounting, the positions of both chute ends are to be marked,
and the distances to the pit rim and pit base are to be checked.

The draining chute should be laid with a down gradient of approx. 1cm over a length
of 20 m. The pump element or the draining flange is to be installed at the deepest
point.

[, Please follow the indications on the mounting diagrams.

3.1 Assembly Kit

The C-rails of the assembly kit are mounted with 1 m spacing. Hereto mount the first
rail vertically aligned at 0,5 m distance from the chute end and at least 50 mm under
the pit rim. With a guideline position the last rail accordingly distanced to the chute
elements to be mounted.

Example:
Total length of chutes: 5x2melements + 1x1melement = 11 m
Distance between first and last C - rail: 11m - 2x05m) = 10m

The remaining C-rails are now mounted onto the pit wall spaced by 1 meter, following
the guideline. Premount the bearing cantilevers of the assembly kit with the guideline
according to the gradient of the chute system.

3.2 Chute elements

Mount the chute elements and a possible pump element starting out from a chute end.
Hereto lay the element onto the lower cantilever and position with the upper
retaining bracket. Put the flat gasket onto the chute flange and stick the connection
sleeves into the guiding pipe. Now position the next chute element and screw flanges
together.

After complete mounting of all elements, and inspection of correct alignment, throw
over the plates standing over the bearing cantilevers with a hammer (use plastic
hammer!) and fix the upper retaining brackets definitively.

The finishing flanges are to be screwed against the chute end with the sealing
compound. Please follow the indications concerning the processing of the sealing
compound.

¥ Only connect the finishing caps to the system chute once the vehicle is in place.

After the complete mounting of all chute elements, the covers can be assembled and
connected to the plates. The free space on the pit wall can be used to lay cables or
similar.

8 441595101-D Permanent Disposal Device



3.3 Navigable Component

Firstly, the collecting tub is to be mounted onto the navigable component. Hereto
grease the swivel bolt well and fix into the bearing buck of the navigable component
with the safety ring.

Initial mounting

After the first chute elements are mounted, the navigable component can be slid onto
the rails from an open chute end.

Inserting into a completely mounted chute system

Dismantle the four wheels. Lift the base plate with mounted collecting tub into a
chute element without a cover. Guide the base plate behind the rails, lay the wheels
on the rails and assemble. For the dismantling, proceed reversely.

3.4 Pump element

-

The pump element and the desired extraction unit are pre-assembled in the factory.

Connection to the waste oil pipe

Affix the flexible pipe that is attached to the connected pipework to the waste oil
storage tank.

In each instance, a non-return valve should be applied to the pressure line
All connections should be oiltight and pressure resistant.

Electrical connection

The electrical connection of the pump and controls should only be carried out by a
qualified electrician in accordance with the wiring diagram.

Mount the supplied signal light where it can be clearly seen.

3.5 Oil extractor electric

The assembly is pre-mounted in the pump element.
Delivery contents: electrical delivery pump, suction hose, a flexible metal pipe for
connecting to the pressure line, the controls and a signal light.

Before putting into operation, check the rotational direction of the engine and the
conveying direction of the pump.

3.6 O0Oil extractor pneumatic

The assembly is pre-mounted in the pump element.

Delivery contents: pneumatic delivery pump, suction hose, a flexible metal pipe for
connecting to the pressure line, maintenance and shutoff units for fitting to the
compressed air supply, the controls and a signal light.

441595101-D Permanent Disposal Device 9



3.7 Draining by allowing the oil to flow freely

To allow the oil to drain freely through the finishing cap, a pipe with 2" nominal
diameter should be fitted to the on-site waste oil tank. Ensure that its incline is
sufficient. The pipe joint is to be applied at the lower end of the system chute.

4.1 Inspections after assembly

Take into consideration the setting time of the sealant used to seal the finishing caps.
Before use, the equipment should again be checked for correct functioning (conveyor
unit, telescopic collecting tub) and complete, oiltight assembly (finishing caps,
draining flanges, pump connections).

4.2 Power supply

Before use, switch on the power supply with the motor protection switch in the
control housing.

A Sswitch off power supply if the equipment will not be used for a longer period.

5 Operation

The Permanent Disposal Device is intended solely for the disposal of engine oil and
gear oil of known origin.

A Operation with oil of unknown origin, solvents, fuels, brake fluids, cooling liquids etc.
is not permitted.

The thereby collected mixture in the used oil tank cannot be reprocessed as old oil,
and has to be disposed of adequately. Ensure that the collected oil is not polluted by
rubbish and the like thrown into the chute system.

During breaks, the navigable component is to be swung under the pit rim, in parking
position, with closed telescopic tube and folded guard plates.

The navigable compound is constructed to be able to carry the normal workload and
additional loads that may arise; nevertheless avoid unnecessary loading.

- Persons standing on the lateral pipe, and laying down heavy loads onto the
construction will cause straining on the construction and wearing of the components,
especially of the bearings.

5.1 Collecting waste oil

To empty oil from a motor vehicle’s engine, position the vehicle under the oil drain
plug. Loosen the clamps on the navigable component and set the collecting tub to the
desired height. Re-secure the locking screws. Before opening the drain plug on the
engine, ensure that the guard plates on the collecting tub are open.

10 441595101-D Permanent Disposal Device



The following rules should be observed:

The volume of oil introduced should not exceed the system volume (temporary tank
and system chute)!

The speed at which oil is introduced should not notably exceed the pump’s flow
volume!

An overflow indicator warns when the filling level is too high. The oil feed should
then be immediately halted and the cause of the problem resolved.

The Permanent Disposal Device is a system for dealing with liquids that are
hazardous to water.

The operator should take the appropriate precautions to ensure safe usage.

In particular, the oil-bearing components and the conveying system should be
examined regularly to ensure proper functioning and that there are no leaks or
damage.

Do not use a system that has faults!

6.1 Telescopic Tube

Rinse the telescopic system with an adequate cleansing fluid (e.g. diesel). Place a
collecting tub under the tube and remove the lower cap during cleansing.

If the telescopic tube is very dirty, dismantle it. Remove the slug above the lateral
pipe, the inner tubes can now be pulled out. The oil from the telescopic tubes remains
in the riser pipe and does not need to be drained.

6.2 Bearing pin

The bearing pin should be relubricated with suitable bearing grease at least once a
month. Use the lubricating nipple fitted to the vehicle’'s bearing box for this purpose.

6.3 Draining chute

Large impurities, such as objects or rubbish thrown into the draining chute, can
hinder the drainage of the oil, or even block the chute. Check and clean the dirt trap
in the pump element or draining pipe at least once a week.

6.4 Pump element

A

The functioning of the three level switches, the signal lamp and the conveyor pump is
to be checked regularly.

This can be done by manually activating the level switches. Here to remove the dirt
trap.

441595101-D Permanent Disposal Device 11



7 Wiring diagram

The following circuit diagram shows the wiring of the controls with the electrical
pump, the level switches and the overfill safety device of the on-site waste oil tank.
When using a pneumatic pump, a 230 V AC connection is enough to drive the
compressed air shut-off valve.

3IN/PE 50Hz 400V

L1 L2 L3 PE N
o 0

Overfill safety device

X3 0O Fafnir Type NB 220 QS/F

B1 C)——\

i

—l 1
82 83 o
zsnv] 2V "MAX" A MAXY (b“\ 2
MAX"
" 2

TR1

Outputsnot  Outputs

T1 ]

X114 O—

x12 O—

Possibility of unweighted voltage c

Without overfill safety device X1 1 and 2 jumpers

020202962
Oil extractor electric

Lo —

Overfill safety device
X3 O l Fafnir Type NB 220 QS/F

Outputs not Outputs

o] ]

e, IR e Sm—
X2 O

Possibility of unweighted voltage -A-

020202972
Oil extractor pneumatic

Without overfill safety device X1 1 and 2 jumpers

12 441595101-D Permanent Disposal Device



8.1 Assembly drawing system chute

N 4.341497.1

Hex nut DIN934 M4

4.330813.1
Connecting shackle

4.054433.1
Connectin

/ 4.206218.1
Flat gasket

4.012330.6 N Covering, length
Fillister head screw DIN 7985 M4x16
40204106 4.341498.1

4.018089.6
Fastening screw

Covering, length

System chute

Room for cable
laying and similar

438

3.083030.1 - L =2m
3.0830911 - L =1m 170
4.012692.1
Cyl. screw DIN912 M6x20 181
4.020630.6
Hex nut DIN934 M6 D: Name
. . Bearb./ " .
Mounting hints: s | 181108 | Dih_| Assembly Drawing System Chute
ol . .
Connection to next chute element or to a finishing flange ;sz% Permanent Dlsposal Device
- Screw tight flange screws uniformly to ensure the correct fitting of the gasket.
1’;he flat gasket mr::st be visibly squashefd by the screw pressure. DEUTSCHE . 0301
- Pay attention to the correct mounting of the connecting sleeves. -
The smooth transition between the guiding pipes is necessary for the easy navigation. TECALEMIT Uz-3.083 :
Druck / print: 25.11.03 CAD-Dateiname: UZ-30830301-Systemrinne-System chute GB!

8.2 Assembly drawing assembly kit

Distance wall mounting
rails: 1000 mm

4.330810.1
Mounting rail

4.031034.6
Disc

Holes for wali mounting

choose mounting material according to
local environment and regulations

i.e. steel dowels;

4.330811.1

4.345116.1
Nut M10

Bracket

4.345117.1
Upper retaining bracket

4.020820.6
Hex nut DIN934 M8

4.030822.6 4.010840.5
Disc Hex screw DIN 933 M8x16
4.011020.5
4.330811.1 Hex screw DIN 933 M10x20
Nut M10
T 4.031034.6
~ Disc
—

4.011020.5
Hex screw DIN 933 M10x20

Double back shackle after complete
mounting of chute elements

I Datum/date| Name

s [ 1s110a] oimh | Assembly Drawing Assembly Kit

S Permanent Disposal Device
G e UZ-2.02 02 92.1

Druck / print: 25.11.03 CAD-Dateiname: UZ-20202921-Montagekit GB

441595101-D Permanent Disposal Device

13



14

8.3 Assembly drawing pump element

4.020834.1
Hex nut DIN 6923 M8

4.34149.8
Covering

4.595309.1
Dirt tra

Flange screw joint mounting
of the covering according to
chute element

re’\
4.920517.1 170 |1
Covering for ~ |
level switch 3
© -
g &
42042011
O-seal 54 x 3 \\
4.159789.1 142
Closure screw G 2" 201

2.855502.1
Level switch

4.020410.6
Hex nut DIN 934 M4

4.020530.6
Hex nut DIN 934 M5

7

Datum /datg] Name

edtor | 18.11.03 Dinh

ﬂ;a%:m

Assembly Drawing
Pump Element

DEUTSCHE
i TECALEMIT

Druck / print: 25.11.03

Uz - 3.08 30 92.1

CAD-Datei

UZ-30830921-Pumpenelement GB

8.4 Assembly drawing navigable component

4.066052.1
Retaining ring DIN 471 D36

4.037555.1
Support disc DIN 988

Tub 360° pivoted

Base plate with
threaded hole

4.411512.1
Ball bearing

4.406020.1
Caster

4.057513.1
Distance socket

4.411512.1
Ball bearing

4.011270.5
Hex screw M12x60

4.031310.5
Disc DIN125 B13
double-sided

opening: 270 x 700 mm
\ g
=
&
920 | )

] Datum /date) Name

Beard ] " .

e, (1811051 Dinh Assembly Drawing
R Navigable Component

IFjoEuTscHE
TECALEMIT

Uz-2797501.2

Druck / print: 25.11.03 CAD-D

0Z-27975012-Fahrwagen GB

441595101-D Permanent Disposal Device



9 Declaration of Confirmity

HORMN
TECALEMIT
Konformitatserklarung
Declaration of Conformity
Hiermit erkldren wir, dass die Bauart
We herewith declare that the construction type
Typ: Bausatz Olabsauger el./pneum.
Type: Oil suction kit el. /pneum.
Bezeichnung: Olférderaggregat
Designation: Oil delivering device
Artikel-Nr.: 020202962, 020202972
Item No.:
in der von uns gelieferten Ausfiihrung folgenden einschlagigen Bestimmungen
entspricht:

in the form as delivered by us complies with the following applicable regulations:

- Maschinenrichtlinie 2006/42/EG - EMV-Richtlinie  2004/108/EG
Machinery directive 2006/42/EC EMC directive 2004/108/EC

Angewendete harmonisierte Normen:
Applied harmonised standards:

DIN EN ISO 12100 DIN EN 809

EG-Dokumentationsbevollmachtigter: Jérg Mohr Horn GmbH & Co. KG

EC official agent for documentation: Munketoft 42
24937 Flensburg

< —
23:05.2013 e e R R
Datum i V Dipl. Ing Jérg Mohr
Date Entwicklungsleiter / Engineering Manager
HORN GmbH & Co. KG T +49 461 8696-0 Geschéftsfiihrer: Commerzbank AG SWIFT COBADEFFXXX
Munketoft 42 F +49 461 8696-66 Torsten H. Kutschinski BLZ 215 400 60 IBAN DE33215400600247600000
D-24937 Flensburg info@tecalemit.de Konto-Nr. 2476000 Amtsgericht Flensburg HRA 4264
Germany www.tecalemit.de USt-IdNr. DE813038919

441595101-D Permanent Disposal Device 15



HORN
TECALEMIT




